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CRGH: D-16                                                                   SXEMHFW: INDUSTRIAL ENGINEERING

TLPH: 3 HRXUV                                                            

                                         MD[. MDUNV: 100

 

NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH
SURYLGHG IRU LW LQ WKH DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16
PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.

 

 

Q.1       CKRRVH WKH FRUUHFW RU EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                         (2[10)

       
a.       Industrial Engineering for the first time emerged as a profession during

 

                   (A)  Pre-industrial Revolution Era         (B)  Scientific Management phase

(C)    Industrial Revolution                    (D)  Operation Research and  
                                                                                      Quantitative Phase

       

b.      Control Limits (CL) are used in

 

(A)    Production Control                       (B)  Process Control

(C)  Qualit\ Control                             (D)  Cost Control
            

             c.   Linear programming is a quantitative technique for decision making and is part of

                  

(A)    Probabilistic Model                      (B)  Deterministic Model
(C)  Algebraic Model                          (D)  Descriptive Model

 

             d.   The technique to rate a job(but not a worker) is

 

(A)    Job Anal\sis                                (B)  Job Description

(C)  Job Specification                         (D)  Job Evaluation           

                  

             e.   Scientific stud\ of the relationship between man and his working environment is

                  
(A)     Therbligs                                      (B)  Motion Stud\

(C)  Operation Anal\sis                       (D)  Ergonomics

 

             f.    When repairs are undertaken after the equipment is broken down, it is known as

 

(A)     Predictive Maintenance                (B)  Preventive Maintenance
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(C)  Corrective Maintenance                (D)  Scheduled Maintenance

 

 

 

 

             g.   A Line La\out is also known as
 

(A)     Process La\out                            (B)  Product La\out

(C)  Plant La\out                                 (D)  Factor\ La\out

 

             h.   The stud\ of overall process in a factor\ is called

 

(A)    Flow Anal\sis                               (B) Product Anal\sis

(C) Process Anal\sis                           (D) Factor Anal\sis

 

             i.    An interlinked production s\stem in which all those steps are included where actual valve is added in

the product is called
 

(A)   Suppl\ Chain                                (B) Value Chain
(C) Product Chain                               (D) None of the above

 
             j.    EOQ is the quantit\ at which cost is the minimum
 

(A)  Ordering                                      (B)  Set Up
(C)  Carr\ing                                       (D) Total

 

 

Answer an\ FIVE Questions out of EIGHT Questions.
Each question carries 16 marks.

 
  Q.2     a.   Describe the important Industrial Engineering Techniques.                                   (8)
       

             b.   Describe the steps involved in LOB technique of production, planning & control.                (8)
 

  Q.3     a.   Describe the various steps involved in developing a product.                               (8)
 

             b.   Job Evaluation can be done through a number of methods. Discuss in detail an\ three
methods.                                                                  (8)                                                             

 
  Q.4     a.   Describe the factors governing plant location.                                                      (8)

 
             b.   What are the factors affecting plant La\out?                                                        (8)
 

  Q.5     a.   Discuss the objectives of Inventor\ control.                                                        (8)
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             E.   AOID CR. SXUFKDVHV UDZ PDWHULDO IURP RXWVLGH IRU LWV DQQXDO UHTXLUHPHQW. FRU WKH \HDU 2006-07,

WKH FRPSDQ\ ZLVKHV WR PDQXIDFWXUH, DW FRQVWDQW UDWH, 1,00,000 XQLWV RI WKH SURGXFWV. TKH FRVW RI
SODFLQJ HDFK RUGHU IRU UDZ PDWHULDO LV   RV.160/-. FRU DQ\ LWHP LQ LQYHQWRU\ WKH CRPSDQ\ XVHV DQ

DQQXDO FDUU\LQJ FRVW HTXDO WR 20 % RI WKH LWHPV FRVW. TKH SURGXFW FRVWV RV.20/- HDFK. CDOFXODWH
WKH IROORZLQJ:-                   

(L)                  OSWLPDO RUGHU VL]H.
(LL)                TKH WRWDO LQYHQWRU\ FRVW.

(LLL)               NXPEHU RI RUGHUV SODFHG LQ WKH \HDU 2006-07?                          (8)
 

  4.6     D.   WKDW LV PRUDOH?  WKDW IDFWRUV DIIHFW WKH PRUDOH RI DQ HPSOR\HH?                        (8)
 
             E.   DHVFULEH PERT DQG WKH PERT SODQQLQJ WHFKQLTXH?                                             (8)

 
  4.7     D.   WKDW DUH WKH REMHFWLYHV RI PUHYHQWLYH MDLQWHQDQFH?                                           (8)   

 
             E.   WKDW DUH WKH VWHSV HPSOR\HG LQ CPM IRU DFFRPSOLVKLQJ D PURMHFW PODQQLQJ?                       (8)

 
  4.8     D.   E[SODLQ WKH FRQFHSW RI QXDOLW\ CLUFOH. HRZ LV D TXDOLW\ CLUFOH VWDUWHG LQ D FRPSDQ\?          

            (8)
 

             E.   E[SODLQ WKH ZHUR DHIHFW CRQFHSW LQ QXDOLW\ CRQWURO? DHVFULEH WKH VWHSV IRU  LPSOHPHQWLQJ D ZHUR
DHIHFW PURJUDPPH?                                        (8)

                                                    

  4.9     D.   WKDW DUH WKH VWHSV LQYROYHG LQ ZRUN-VWXG\ H[HUFLVH?                                           (8)
 

             E.   E[SODLQ WKH FRQFHSW RI VWDQGDUG GDWD. WKDW DUH WKH VWHSV LQYROYHG LQ GHYHORSLQJ VWDQGDUG
GDWD?                                                                 (8)

 


